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PARTIAL PRESSURE WORKSHEET
DIRECTIONS: for each of the following problems show all work neatly.

1.
If a steel container holds 5.00 moles of gas and the total pressure is 5.00 atm., what is the partial pressure for each mole of gas?

2.
If a steel container holds 2.00 moles of hydrogen gas and 2.00 moles of helium gas, and the total pressure is 4.00 atm., what is the partial pressure of each of the gases?

3.
If a steel container holds 1.00 moles of oxygen gas and 3.00 moles of argon gas and the total pressure is 800 Torr, what is the partial pressure of each of the gases?

4.
If a steel container holds 1.50 moles of nitrogen gas and 2.50 moles of helium gas at a total pressure of 760 mm Hg, what is the partial pressure of each of the gases?

5.
A rigid container with a volume of 5.60 l holds 71.0g chlorine gas and 4.00g helium gas.  If the total pressure is 760 mm Hg what is the partial pressure of both gases?

6.
A 22.4 liter glass bulb has a total pressure of 760 torr at 0.0˚C and 
contains three different gases, nitrogen, helium and argon.  If the partial pressure of nitrogen is 250 torr and the partial pressure of argon is 130 torr, what is the number of moles of helium in the tank?
7. A sample of nitrogen gas is collected over water at 20.0˚C and a pressure of 1.00 atm. The volume of the collected gas is 250.0L. What is the mass of N2 collected? (At 20.0˚C, the vapor pressure of water is 17.5 torr).
8. Oxygen is pumped into a tank to supply breathing air for scuba diving, until the gas pressure reaches 4.05 atm. Helium is then pumped in until the total pressure is 20.00 atm. The gases mix completely. What is the partial pressure of each gas in the tank? BONUS QUESTION (E.C.): The tank is then used until the total pressure is 9.50 atm. What are the new partial pressures of each gas?

